
Логарифмічні рівняння 

1.​ Розв’яжіть рівняння   3𝑥 + 1( ) = 2
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2. Розв’яжіть рівняння  𝑥 + 9( ) =− 4

А. 
 25

Б. 
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В. 
 5

Г. 
 16

3. Розв’яжіть рівняння  7𝑥 − 2( ) = 5𝑥 + 12( ) 

А. 
 5

Б. 
 7

В. 
 12

Г. 
 1

4. Розв’яжіть рівняння  𝑥 + 1( ) + 2𝑥 + 1( ) = 1

А. 
 − 2, 5; 1

Б. 
 2, 5; − 1

В. 
 1

Г. 
 2; 3

5. Розв’яжіть рівняння  𝑥 − 2𝑥 − 8 = 0
Знайдіть добуток коренів 

А.  
 2; − 4

Б. 
 25; 1

625

В. 
 − 2; 4

Г. 
 625; 1

25

6. Скільки розв’язків має рівняння  
 𝑥 + 1( ) = 𝑥 + 1( )2 + 3
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